
                                                             

 

 

 

 

              

t2 
 

 


          

101100

  1100 

1100

1000 
 

1100

t
i 

k

VA k i  

n

 0m  

20232024 

 
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   

 





              

t1






 
              



    1000     

10001000

11001000


 

ni

(1 )nVA k i 
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 

k0
 

m

 

05
 


 

                                                                                         



              



- 
- 


 


      



    

1000
1100




VA

 


 

(1 )n
VA

k
i







 0n 

 

 


 



                                                             

  

m 
( )(1 ) n m

nVA VA i   
 

(1 )
m

mVA k i  
 

              
            




 

4 5 

 60.000 75.000 

300.00012٪ 


  
 

VA 

117.840 

79.700 

56.880 

38.100 

42.525 

 
 
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n 0 

VA k i (1 ) n
nk VA i   

n
VA VA i  (1 )mmk VA i  

 
              

          



 



1 2 3 

120.000 100.000 80.000 

300.000


12٪ 

  

 0,982 

 0,797 

 0,711 

 0,635 

 0,567 


   

 

 

 117.840 

 197.540 

                                                                                         

n

(1 )
n

nVA k i 

(1 )n m
mVA VA i  


              

          







N 

CFN 





 

 

N 

 
 
CFN 

1 120.000 

2 100.000 

3 80.000 

4 60.000 

5 75.000 


   

 

1 117.840 

2 79.700 
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3 56.880 254.420 

4 38.100 292.520 

5 42.525 335.045 

     300.000   4   5    

        292.520       

7.480300.000292.520   

42.52512

7.480 

42.52512 𝑚𝑜𝑖𝑠 

7.480𝑥 𝑚𝑜𝑖𝑠 

𝐷𝑅 =

3.3jours 30 jours 0,11mois 

𝐷𝑅 =

44 

      ( VAN). Valeur Actuelle Nette  



. 

1  




 

– 
             


 

2  
      ACTUALISATION      

               
 


 
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               
               

CAPITALISATION
 

 

CFN1, CFN2, CFN3,………CFNnt1 , t2 ,t3………, tn 

i 

VA= CFN1( 1+i)-1 +  CFN2 ( 1+i)-2  + ……….+ CFNn ( 1+i)-n 

      CFN1= CFN2= CFN3=………=CFNn    

 

VA𝐼଴ 

VR 

: 

 VAN > 0 

 . 
 VAN = 0  

 
   VAN < 0          

 . 
               



  
 
 
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1AB 

 A B 

 2.300.000 3.000.000 

 05 05 

 - - 

 10% 10% 

 
 1 2 3 4 5 

A 800000 800000 600000 800000 600000 

B 1000000 800000 1000000 900000 800000 

 

VAN 

A  

VAN = 800000 ( 1.1)-1 + 800000 ( 1.1)-2 + 600000 ( 1.1)-3 + 800000 

( 1.1)-4 + 600000 ( 1.1)-5 – 2300000= 2758182.19 - 2300000  

= 458182,19 

B  

VAN = 1000000 ( 1.1)-1 + 800000 ( 1.1)-2 + 1000000 ( 1.1)-3 + 900000 ( 1.1)-4 + 800000 ( 
1.1)-5 – 3000000 =  3433011.85 – 3000000 

= 433011,90 
 

 

B A 

VA  CFN  VA  CFN  N 

3.000.000
 

3.000.000
 

2.300.000
 

2.300.000
 

1 0 

909.000 1.000.000 727.200 800.000 0,909  1 

660.800 800.000 660.800 800.000 0,826 2 

751.000 1.000.000 450.600 600.000 0,751 3 

614.700 900.000 546.400 800.000 0,683 4 
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496.800 800.000 372.600 600.000 0,621 5 

432.300  457.600   V

A

N 

 
 

VAN≥0) VAN<0) 
        

 
                

 
 

–

         VAN>0     
 

2A B 

  A B 

 100.000 

 

100.000   

 
 5 5 

 

0 100.000 50.000 

1 30.000 50.000 

2 30.000 50.000 

3 30.000 40.000 

4 30.000 30.000 

5 30.000 20.000 

6  10.000 

10% 

 A 

VAN = 30.000భష(భశబ,భ )ష ఱ

బ,భ
 -100.000 =13723,6 

B 
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VAN = 50.000( 1.1)-2 + 40.0000 ( 1.1)-3 + 30.000 ( 1.1)-4 + 20.000 

( 1.1)-5 + 10.000 ( 1.1)-6 –50.000 ( 1.1)0– 50.000( 1.1)-1 

= 14.473,93 

BAB 

3  

31 
                

 

    AB         A
6B4 

ABB1,5A  

           B    

            

6412AB
 

 

𝑉𝐴𝑁୅൫

 

𝑉𝐴𝑁୅൫6,2൯𝑉𝐴𝑁୅(1 + 𝑖)ି଺
 𝑉𝐴𝑁୆(4,3)    𝑉𝐴𝑁୆ (1 + 𝑖)ିସ 

 
 

𝑉𝐴𝑁୅൫

 

𝑉𝐴𝑁୆(

       A N  M    
 

 
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      AB     

10% 
 

N 0 1 2 3 4 5 

1.300 1.000 2.000 1.000 1.000 800 

1.300 1.500 1.700 2.000   

 15

53AB 

𝑽𝑨𝑵𝐀= 1.000(1.1)-1 + 2.000(1.1)-2 + 1.000(1.1)-3 + 1.000(1.1)-4 

+ 800(1.1)-5 –1.3003.193 

𝑽𝑨𝑵𝐁= 1500(1.1)-1 + 1.700(1.1)-2 + 2000(1.1)-3-1300 

2.971,22 

𝑉𝐴𝑁୅(

𝑉𝐴𝑁୆(

BA 

32 






 

             10 

 
      AB     

10% 

N 0 1 2 3 

2.300 1.840 1.840 1.840 

11.500 7.750 8.000 6.600 

𝑉𝐴𝑁୅1.840భష(భశబ,భ )ష య

బ,భ
 -2.3002275,8 

𝑉𝐴𝑁୆= 7.750( 1.1)-1 + 8.000 ( 1.1)-2 + 6.600 ( 1.1)-3–11.500 

7.115,7 
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BA



AB11.5002.3005 

𝑉𝐴𝑁ଵ଴ = 18.400( 1.1)-1 + 18.400 ( 1.1)-2 + 18.400 ( 1.1)-3–23.000 

18.400భష(భశబ,భ )ష య

బ,భ
 -23.00022.758 

22.758102275,810𝑉𝐴𝑁୅𝑉𝐴𝑁ଵ଴୅ 

𝑉𝐴𝑁୆= 7.115,7 

AB 

 


